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Problem 1 

 

 

 

 

 

 

 

 

 

  

 

 

In class I shoved that the potential for two infinite plates, one at potential V=0 and one at 

potential Vo  is given by: 

 

V (x,y) =
2V0 1

k0

sin(ky)e kxdk =
2V0 Arccot g(

x

y
) =
2V0 Arctg(

y

x
) 

 

a) Show by inserting this in Laplace equation that the differential equation is 

satisfied and that the boundary conditions are satisfied.  

b) Find the induced charge on the two surfaces. 

 

 
Problem  2 
 

Problem 3.12 in Griffithts. 

 
Problem 3 
 

Problem 3.32 in Griffiths. 

 

 

Problem 4 
 

Problem 3.33 in Griffiths 

V=0 

V=V0 
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